No. of Printed Pages : 4

ME30‘9 ROIING. 2 ccoceviecccececonccess
2019
MECHANICAL ESTIMATING & COSTING
fufia o . TR [SAftreham 37 : 70
Time allowed : Three Hours] [Maximum Marks : 70
A () AIRFITINT/
Note : Answer any FOUR questions.

(ii) ¥E% T F G 9T 1 FHHEAR T G EF FHiford |
Solve all parts of a question consecutively together.
(iii) Y% ¥ 1 79 78 & 10 Fiford |
Start each question on fresh page.
(iv) @ SIS 7 3R 817 #1 fa § 37 e & a8 |
Only English version is valid in case of difference in both the languages.
(v) TR FIF STHST 78T 1o T 81 @ 38 SHTAHAR A AT |

If any data is not given, assume it suitably.

1. () o"a ! aiTiid S | 3Ther TE @rTa § 3 fafa |
Define costing. Write the differences between estimating and costing. 6)

(i) T Bt F TR T 1000 Seet T 72 B W GO IAE & W@ 2 | Iah! vared
AT T 375, 99 AFTE T 245 T oI @4 T 80 B | Bl IufeHd ol AH AR
150% 2 3 e TR Fot el A0Ta HI 30% & | AMG TAH e W 72 H
faera e T 1.30 €, i &1f 2 & ot o i |

A factory is producing 1000 bolts and nuts per hour on a machine. Its material
cost is ¥ 375, labour cost is T 245 and the direct expense is ¥ 80. The factory
on-cost is 150% of total labour cost and office on-cost is 30% of total factory
cost. If the selling price of each bolt & nut is ¥ 1.30, then calculate loss or
gain. (11%)

2. () e ) gitrfya i | fafie SR % PraEi S aEssd |
Define Wage. Explain various types of wages. ©)

(10f4) P.T.O.
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(i) Tg @ % 10 Taves! 1 R 3a i R 3R g 3mpia fax (1) | feg 1

R

(i)

£ | B9 1 9w o 3ra AR, af 5% 25 frfl. srE 6 B @ S T R 9 R
f wd qifdn i g wh 1 fnd, 3 5 feft. § ) wife =% A vwed % faw 15
firft. ot g B ST B € | g FET I HAE 7.8 TW/EH.3 R |

Find out the weight of 10 M.S. spindles, the shape and size of which are given in
figure (1). Also calculate the weight of scrap, if they are turned out from a M.S.

rod of 25 mm dia and facing and parting off allowances are 1 mm and 5 mm
respectively. Assume that 15 mm length of rod is required for grip in the chuck.

Density of M.S. is 7.8 gm/cm3. (11%)
B e e ke s i s A i e i v o s -_--1
] JEEC e
25 | 3 |1

All diménsions are in cm.
=1/ Fig. -1

feptrn s ugfa amEE | 3Eh oy i fafla |

Explain Hire purchasing. Also write its advantages. ©)
i (2) § e 10 s % gered Y AT i T HIC | 9Tg T 5% AT
3t sfie it @ T 200 wf = Hiet # |

Calculate the cost of material to prepare a funnel as shown in figure (2). Assume
wastage of metal as 5% and cost of sheet ¥ 200 per m2. (11%)

All dimensions are in cm.
f=-2/ Fig. -2
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Ao T % A i o Faftrs el g e Tt S =R, Jvi i |

Describe, which various important allowances are to be considered while making
pattern. (6)
foyfi T T U et I U TIE ST A ® | e 120 =5k id e wogm W@

2 | & e 1 iz AT H R savEE ged w1 S, 3 wie 2 /.41 '
wd 10 &, o # . et e 8 At # 1w 0.5 forft. wifd sk wi |

A slot is to be made on a milling machine with the help of cutter. Cutter is
revolving at 120 r.p.m. Find the time required to prepare the slot in two cuts, if

slot is 2 cm deep and 10 cm long. Diameter of cutter is 8 cm. Assume the feed as
0.5 mm/revolution. (11%%)

10 firdt, wirerd 1 1 et ot 2 g 3T Wi B 6 firft. seERie @ ©d SIS g
AT | IS A ags H IR |

Two 1 m long m.s. plates of 10 mm thickness are to be welded by a lap joint with
a 6 mm electrode. Welding is to be done on both sides.

o= siferel & afeen i @ a HIfT -
" Find the cost of welding from following data :
(a) TI® 49T =250 TfERR
Current used =250 amperes
(b) deew =30V
Voltage =30V
(c) T SRS =0.1 forn. /et e
Electrode used =0.1 kg/m of welding
@ afegnnfa = 10 dier/g9a
Welding speed =10 m/hr
(e) =ftrh o =% 50 fd =T
Labour charges =% 50 per hour
() IR YH = 5/fpeiare 9
Power charges =% 5/kwh
(g) ITAHRISATE = 7 30 wfe fopetiom
Electrode cost =% 30 per kg
(h) WA i g&wT =60%
Efficiency of machine = 60% (11%)
BV AT T IATHeH hal (T FTAT 8 ?
How foundry cost is estimated ? 6)

P.T.O.
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GifShT 9 & 3mmeher Sskar @Sy |

Explain estimation procedure in forging shop. @)
4 ¥, =av T 10 St VTS 1 1000 gg $ETA T i 9T BieH gra 5 df. S
6 B =ik ¥ T I 2 | 9er™ @ i e Fifse, afg 88 T 50 wfd diw
T W 3uerey @ | aft g afeat w6t Wi

1000 m.s. pins of 4 cm diameter and 10 cm length are to be made by drop

forging by a bar stock of 5 cm diameter. Calculate the material cost, if bar is
available at T 50 per metre length. Assume all possible losses. (10%)



